
Class:Class 8 Subject: Science Topic:Structure of Atom

S.No Question Answer Options

1 What is the charge of n?

1

Zero

-1

None

1

Zero

-1

None

2 What constitutes the mass 
number of the atom?

Number Of Protons

Number Of Neutrons

Both Of The Above

None Of The Above

Number Of Protons

Number Of Neutrons

Both Of The Above

None Of The Above
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3
What is the atomic number 
of the atom if it has 6 
electrons and 6 neutrons?

6

12

3

1

6

12

3

1

4

Fill in the blank with the 
appropriate answer : Each 
element has a name and a 
unique ____________ symbol.

Answer
____________

Answer
____________

5
State true or false : Sodium 
with 11 electrons is a stable 
atom.

True

False

True

False
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Correct Answer is
1. Correct Ans option is Zero
2. Correct Ans option is Both Of The Above
3. Correct Ans option is 6
4. Correct Answer is chemical
5. Correct Ans option is False
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